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PART-II : COMPUTER /

31. Which one of the following is prefix
representation of the infix expression
A=(B+Q)/D?

fa) [*A+BCD

(b) A+B/CD

(c) +*AB/CD

(d) None of the above

A B-tree is of order p and consists of
n keys. Its maximum height is

32.

(a) Iog{pm][n +1)/2

(b) logpn

[C) 10&[ p},rleln + 1}

(d) None of the above

The following postfix expression with
single-digit operands is evaluated using
a stack :

823~ /23*+51%-
(Note that A is the exponentiation
operator.) The top two elements of the
stack after the first * is evaluated, are

33.

(@ 6,1 (b) 5,7
e} 3,2 (d) 1, 5
34. A hash function defined as

f(key) = key mod 7 with linear probing
is used to insert the keys 37, 38, 72, 48,
98. 11, 56 into a table indexed from
0 to 6. What will be the location of

key 117
fay 3 (b) 4
(c) S (d) 6
35. The concatenation of two lists is to be

performed in O(l) time. Which of the
following implementations of lists could
be used?

()
(b)
(c)
(d)

Singly linked list
Doubly linked list
Circular doubly linked list

Array implementation of list

10

aqm-11 : FFHE
o/p # ffF EEE

31, TAfEH ZAAH A*(B+

o & @ AT 87

/»A+BCD "2‘]

(b) A+B/CD C

(c) +*AB/CD

M?EP{?H # 4 Fr§ T

32. T B-tree, Tl F4 p & w5 forad n Fiml

3 i srfergan F4E 8

(a) log‘p/m(ni‘])f‘?

(b) logpn

(c) log(p/z)(n+ 1)

(d) T d 8 FE T

a3. fama-fefe wia-gH ¥ may fm a=fre
e S ¥ M A YA g R
823/ /23*+51%~

(& i ATE C{Wq‘m'iias'q R B1) T

« ¥ e F e RF H A ¥ uferza &M
(@ 6,1 (b) 5,7

(c)

3.2 d 1,5

34. TF W FHA f(key) = key mod 7 ¥ ¥4 H,
zjﬁﬁmxhﬁﬂ%ww, g ®) 3@ W@M
$fmi 37, 38, 72, 48, 98, 11, 56 #1 0 &
6 aF ! e A wid w0 F fon fra ™

RIS 11 1 T F1 'm?
(@ 3 (b) 4

() S {d) 6

35. 39 fae 1 FHF =W o) v d 2 R

Z‘%ﬁﬁﬁﬁfﬁﬁ-mmmm
(a) Toreh faae foe

(b) werelt foras fome

() WFeR Taeh) forare o

(d) o= = V) st

I |
Scanned with Camscanner
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36. Match List-1 with List-II and select the 36. ‘éffH 1 Tﬁ—ll ks ‘qﬂ'ﬁﬁﬁ #Fifso q ?Lf%m’i *

correct answer using the codes given 9 fou o g2 F T B GE T T .
below the Lists :
List-1 List-II Nk o
A All-pairs shortest 1. Greedy A. icl-4TH mﬁa.tnz] L fih
path B. frwafe 2. 3W-FE T4
B. Quicksqriac 2. Depth-first
ME(‘\‘% ) e C. fiftpm 3z Bfm A 3. T S
C. Minimum weight 3. Dynamic D. #4802 FE-2 4. fearge T FEFN
spanning tree programming
D. Connected 4. Divide and E
-:0‘111poncms conguer 7 'b (a) A ‘B C D
Codes %, i]) V \ 2 4 1 3
: S G
(a) i\ B C D 3 (b) A B C D
by A B C
Lo . - g" @ © A B C D
3 3 4 2 1
© A, B C 4B
v ' 3 4. -2 (d) ‘: ? g 3D
(d A B (& D
4 1 2 37. fr= & Q@ FH-T YEE AA-TE A T
ST g&dl 2
37. Which of the following algorithms solves F1 T &
the all-pairs shortest path problem? _la} fesereg Aomiigd
(a) Dijkstra’s algorithm @ (b) WW
b) Floyd’s algori
(b) PIO} s lgorlthm ©) ﬁﬂﬁ?’lﬁ@
(c) rim’s algorithm
(d) AT YEREH

(d) Warshall’s algorithm

.. § ¥ e wien Yomiign N TE T

algorithms has the worst time FirfaRad! nlog(n) Bl 87
complexity of nlog(n)? (a) Fietaic

(a) Heapsort (b) .

(b) Quicksort

{c) Insertion sort R (c) wh L

(d) Selection sort € (@) Toere Hie

39. What is common in three different types [ 39. = @ -\ ol e (§-A1,
of traversals (inorder, preorder and - a7fdt 3R Pre-37E) § AW e &Y

postorder)? .
(a) Rootis visited before right subtree o M ﬁ*m Hﬂ-ﬂf\ ‘TE-’E"! i A TR%( ? -
(b) @f F&-A N T A T A

b) Left subtree is always visit efore
& right subtree h fafire %t #
(c) Root is visited after left sUbtree (c) & EY i“ﬁ W'ﬂ F are fafse #+@ 2
(d) All of the above (d) Iugw Bl
"

e 11 [ P.T.O.
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40 mﬁaﬁ%aﬁ%ﬂ%fwﬁﬂﬁﬁﬁ-m

40. Which of the following is correct

g frow 27
-' recurrence relation for worst case of el :
'* binary search? (@ T(n)=2T(n/2)+ o(1)
] (a) T(n)=2T(n/2)+0() T(1)=T(0)=0()
| A=l (b) T(n)=T(n/2)+0M)
i (b) T(n)=T(n/2)+O(n) T(1)=T(0)=0()
| T(1)= T(0) = O(1) & =T 2+ 6l
(€) T(n)=T(n/2)+0O() T(1)=T(0)=O())
| T(1)=T(0)= O(])
l (d) T(n)=T(n/2)+O(logn)
el e . T()=T(0)=O()
|' ol = ’ 2 P 'H'Ei acT
41. Which of the following traversal 41. Z-Tﬁé ﬁf ﬂ_;' FH H;’(m 37 '
techniques lists the nodes of a binary ' 3'_li|g' HH W_'&' ’
search tree in ascending order? (a) UR2-3TE
(a) Postorder (b) Wi-3TEr
(b) Preorder (©) '5'3-31‘%‘{
(C) Inorder (d) E ﬁ ﬁ }ﬁ_g 7{?‘1

(d) None of the above - .
' arfert, ROISE
42. A hash table of length 10 uses open 42. 9= 10 A1 TH

addressing ~ with  hash  function h(k)=kmod10 31 PR ?-);:_ITQJ o
h(k)=kmod10 and linear probing. After UgfEm #1 37w 2| T]_HS. '
inserting 6 values into an empty hash H 6 UMH STeiA % =12 arfeial ﬁ'ﬂHﬁWﬁ &
table, the table is shown below : 0
0 1
1 2 42
i 2 42 3 23
2 gi 4 34
- = 5 52
6 46 6 46 |
_ 7 33 = 33
: C
n - e
Which of the following choices gives a = 3 A AR-w e o w2
: possible order in which the key values o & wiferam 3 HEEl 9F 2@ W Tahd &7

could have been inserted in the table?

<4
a (@ 46, 42, 34, 52, 23, 33 :Z) 36, g
! (b) 34, 42, 23, 52, 33, 46 ) 34,42, 23, 52, 33, 46
i (c) 46, 34, 42, 23, 52, 33 (c) 46, 34, 42, 23, 52, 33
| (d) 42, 46, 33, 23, 34, 52 (@) 42, 46, 33, 23, 34, 59
i 43. C was primarily developed as a 43.C qega: fqsfag EY TI'S
f ’%:: systeml prograrnnlling langua (@) STl Wrnfi WIS % ¥y &
| general purpose language (b) m-ﬁﬂ
| (c) data processing language (e R I % &y ¥

(d) None of the above ML R

@) IR A Y w8 o
/25-C 12
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44. The minimum number of temporary

variables needed to swap the contents of

44, 2 AfuEel F Fi2re F B9 w7 F 0 g
et Afteaat f T Frad 2efi?

two variables is '
@ 1 (b) 2 (a) 1 by 2 5;;)
() 3 d) 0 () 3 d o_
45. The program [ragment 45. WW
mt a=5. b=2; mt_ a=5, b=2;
printl ("%ed’,a++++4b); printf ("%d",a+++++bj;
- (a) fo= w2 7
(a) primts /
R (b) Br==wfi2 8
(b) prints 8
(¢) prints 9 (c) i wdi 2 9
(d) I F A Fi T

(d) None of the above

46. Consider the following program segment
in C programming language :
i=6720; j=4;
while ((i%j)==0)
i=i/j j=i+1L}

%.Cmﬁnm%ﬁnm—mmﬁw
F
i=Q720; j=4;
while ({i%j)==0).
fi=i/ji j=i+ L)

On termination, j will have the value Hrnﬁl qq j =1 °HH BT
(@) 4 (b) 8 (@) 4 (b) 8
(c) 9 (d) 6720 € 9 (d) 6720
47. Consider the following segment of 47. C 918 ¥ i @vg W Er =t
C code : . B
S 0@ intj, n;
mnt), n; j= 1
j=1 while (j<=n) j=j*2;

while (j<=n) j=j*2;
The number of comparisons made in the
execution of the loop for any n>0 is

(a) [logonl+1
(b) n

(c) [loganl
(d) llogonl+1

48. What will be the output of the following?

%Eﬁ%ﬂn>0ﬂ3ﬁ“m'eﬁaiﬁwmﬁﬁn§
et 6 g R

(@) [logpnl+1

(b) n

() loggonl

(d) Lloggnj+1

48. = &1 frfa (output) 1 87

main () main ()
: {
int a='A}} int a='A}
printf ("%d", a); printf ("%d", a);
| .
(a) A _lay A
(b) a (b) a
(c) 65 () 65,
(d) Compilation error (d) HirggavA I
/A8 13 | P.T.0.
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49, what will be the output of the following
program?
int f(int x)
{
static int y;
vl
return (y);
}
main ()
{
int a, i;
for (i=0;
a=f(i);
printf ("%d", a);
}
6

10

i++)

1<6;

Ma)

()

(b) 8
@ 15

50. Which of the following is not a storage
class specifier in C programming

language?
®

(a) Register
\[B)/ Volatile
(c) Extern
(d) Typedef
S51. In C language
parameters are always passed by
values

(@)

(b)

‘{ﬁ,

@ .

52. What does the following C statement
mean?

parameters are always passed by
reference

non-pointer variables are passed by
value and pointers are passed by
reference

parameters are always passed by
value result

scanf ("%4s", str);

Read exactly 4 characters from
console

Read maximum 4 characters from
console

Read a string in multiples of 4
None of the above

(a)

(b)

(c)
(d)

/25-C
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49. = ™ H ffa (output) F1 e

int f(int x)
{
static int y;
y +=X,
return (y);
}
main ()
!
int a, i;
for (i=0;
a=f(i);
printf ("%d", a);
}
6

i<6; i++)

(b) 8
(d)

(a)

()
c defim s & fm & @ FR-T T B
FoTE WRer Tt 7

(a) TR

(b) AEEA

(c) e

(d) <EISE

C w1 #

(@) ¥l = Wwm Y @ R
value 3T

(b) ¥Rt B T A I R reference
'

() non-pointer variables ®! value fLd

3R pointers M reference TR W0
T R

10 15

50.

51.

52. fefafan ¢ wum w1 ad §?

scanf ("%4s", str);

(@) F9 3 9% 4 Feww i

(@) I & Y 2



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

53. Assume the following C  variable
declaration

int *A[10], B[10][10],
Among the following expressions, which
will not give compile time errors if
used as left-hand side of assignment

statements in a C program?

I A2

. A[2][3]

1. B[l

V. B[2](3]

(a) 1, Il and IV only

b 11, 11 and IV only

(¢) 1l and IV only
(d) IV only
54. What is the output of the following
C program?
# include
int main ()
int index ;
for (index = 1; index <=5; index ++)
printf ("%d", index);
if (index==3)
continue;
(a) 1245 (b) 12345
() 12245 (d) 12354
55. What is the meaning of the following
declaration in C programming language?
int(+p) (S}

(a) It will result in compile error
because there should not be any
parenthesis, i.e., "int *p{5]" is valid

(b) p is a pointer to 5 integers

(c) p is a pointer to integer array

(d) p is a pointer to an array of
S integers

56. In the relation R={(12),(23), the

minimum number of ordered pairs that
must be added to this set, so that the
enlarged relation is reflexive, symmetric

and transitive, is

(a) 4 (b) S
c) 6 (d) 7
/25-C 15

p

53. fafaf@a C
a4

variable declaration

int *A[10], B{10][10);

fm whmafral 8§ FH-W/] FE5S 26y
afz Tt 3m/3, AR @ C wom § dwR-E

ATz Wi F) e wam fE s
I. A2
. A2[3
1. B[y
V. B[2](3]
(@) FaA 1, 1 Td IV
(b) Faa II, 11l W& IV
(c) Fad 11 3 IV
(d) Faa IV
54. fi C Y & Fid (output) T FmM?
# include
int main ()
l int index ;
for (index = 1; index <=35; index ++)
| printf ("%d", index); ‘ﬂ“}
if (index==3)
continue;
!
|
(a) 1245 (b) 12345
(c) 12245 (d) 12354
§5. C Wiy s # 3 declaration &1 F1

g 87
int(*p)[5];

7 Fiega 3R whoa dft FEifE T8
a5 Nedfm T @ =Ry, swiq
"int *p{5]’ €&

(b) p, 5 K F TEA &
el p, TR W F1 TR ?

d) p, 5§ F freh W W qie R
56. fau U fewA R={(12), (2 3)) ¥ Frem frem

W TR MR W Ak Caee  Red

Jday” 4 (b) 5
) 6 d 7
rs,"LfL% [ PT.0.

\&
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57.

S8.

59.

60.

61.

62.

63.

The range of the function
F=x2/1+x2) is

(a) (o0, +e0)

(b) (O =)

(c) (-0, 0

(d [0

A and B are two 8-bit numbers such

that A+ B < 2% The number of possible

combinations of A and B is

(a) 27 b) 28

(c) 26 [y %y

Which of the following is tautology?

(a) avb—-bac

(b) aanb-bve

(c) avb-o(b-()

(d) None of the above

From a complete graph by removing
maximum edges, we can construct

a spanning tree.
(a) e-n+1

(c)

(b) n-e+1

n+e-1 (d) e-n-1

In how many ways can 8 Indians, 4
Americans and 4 Englishmen be seated
In a row so that all persons of same
nationality sit together?

(a) 3!4!8!4! (b) 3!8!

(c) 414! (d) 8!4!4!

The total number of words formed by
2 vowels and 3 consonants taken from
4 vowels and 5 consonants is

(a) 60

(b) 120

(c) 7200

(d) None of the above

The output F of the circuit

~

is given by X
(a) 1 (b) O
€ X (d) X’

/25-C
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a2
57.Wf{x}:x2/(1+—x%—£! = 2

58.

59.

60.

61'

62.

63.

(a) (- *+)

(b) (0, =)

(c) (-== O]

(d) [0 1) , _
pshop A far AT FELE
AvB<2B. AW B aeE e
(a) 22 b) 28

© 26 @ 2%-1

= § A FF-w Z2ar ef

(a) avb—obac

(b) anb—bve

(c) avb—=(b—¢)

(d) 34 3§ A F§ T

UF FAlz 01 A Ao @ 72
S & "9 1 T

(@) e-n+1 (b) n-e+l

(c) n+e-1 (d) e-n-1

wF uftF § 8 WRd1a, 4 R 3 4 3fem
et fopat T | A2 THA T, AE TH # AP
F ot T} wF Wy w7

(a) 31418!4! (b) 3!8!

(c) 4141 (d) 81414!

4 W R 5 e F 4 2 RN 3 A
TR Pl e T2 sATE =1 WA &7

(a) 60 i

(b) 120

(c) 7200

(d) 394 # A N T

qitgy

"~

X
F1 714 (output) F i | T A
. (b) o
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64. Which of the following
clement?

(a) NAND gate
(b) SR flip-flop
(c) NOT gate

(d)

is a memory

Universal gate
65. Which of the following is a universal
gate?
NOT (b)

(d) AND

{dl NAND

[c) OR

66. The binary equivalent of the Gray code

11100 is
(@ 10111 (b) 00111
(c) 01011 (d) 10101

67. Which one of the following is not
necessarily a property of a group?

(a) Commutativity

(b) Associativity 9

(c) Existence of inverse for every
element

\@ Existence of identity

68. What is the possible number of reflexive
relations on a set of 5 elements?

(al 210 (b) 215

(c) 220

(d) 225
69. From the given digits
2,2,3,3,3,4, 4.4, 4
how many 4-digit numbers greater than
3000 can be formed?

(a) 50 (b) 51
{c) 52 (d) 54

70. What is the maximum number of
different functions involving n Boolean
variables?
(a) n2 (b) on

2

© 2" @ 27

/25-C
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64. 9 & 4 #19-7 UF memory element ¥?
(a) NAND 72

Jb}Y SR flip-flop
(c) NOT =2

(d) Ffede 1z

65. 1 3§ & F3-71 vF gfraedm e 27
(a) NOT b} NAND
(c) (d) AND

&

OR

66. 1 F1T 11100 F1 4240 gy 2
Aa) 10111 (b) 00111
(c)

67. 7 § 8 FR-w w A = FFEd m
27
(a) fafman
(b) @I
(c) ?m%mmmm@a

(d) TTEY IFEFS 9 BT
68. 5 JFTal & ¥ W Nwifars wwryl it wwifaa

01011 (d) 10101

e = 27

@ 2'° () 2'°

() 220 (d) 225
69. fa T o

2,2 3,3,3,4,4,4, 9

8 3000 @ fts 4 37 h T T 18
9 Hehell #7

(a) 50
()

70. n gfeam el @ sAivwm fF i wam
AT 1 G &7

(b) S1

54

52 (d)

(a) n? (b) 2"
@ 2" @ 2%
o : [ PT.O.
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71. The number of equivalence relations of
the set {12 3 4} is

fa) 4

(€) 25
What is
function?

24
1

(b)
(d)

5

72. the range of the following

(4, 8),9.2), (-3 -4)
4,9, - 3)
8
i+, 8),(9.2), (-3 -4)
82-4)

(a)
(b)
(c)
(d)

73. identify the cut

In the given graph
vertices :

A

(B)
(D)

B and E
C and D
A and E
C and B

(&)

(a)
(b)
(c)
(d)
74. __  monitors user’s activity on
Internet and transmits that information
in the background to someone else.
(a)
(b)
(c)
(d)

Malware
Spyware
Adware
None of the above

75. A portion of the polymorphic virus,

generally called a , creates a
random encryption key to encrypt the
remainder of the virus.

(a)
(b)
(c)
(d)
SSID stands for
(@)
(b)
()

(d) Service Set Independent Device

polymorphic engine
multiple engine
mutual engine
mutation engine

76.
Secure Service Identifier
Secure Set Independent Device
Service Set Identifier

/25-C

g1 vl L

ﬁﬁ;li‘

PSP S S |

71, T2 {L234}%mﬁnﬁmﬁﬁm%

(a) 4 (b) 24
(c) 25 (d) 15
72, fe wer H 19 #0187
(4, 8),(9,2),(-3 -4 |
(a) @ 9, - 3]
(b) {8}
(c) {4,8),(92),(-3-9)
(d) (82-4)
73. 2 o T 1 e adEE i TEE
(& (©
(B)
(D) (E)
@ B3E
(b) C 3D
(c) A3ME
d cs3mB

74, T W IWIHA 1 a6l
et wea @ i gmyfy § 3@ SEEd

et oIk ¥ ra Ia == B
() HTEEAX Y 1
b} TR

(c) TEAW

(d) S A @ w7

75. AR W Afferiihs aEw@ ¥ & R A
% R, ) 9 ¥ 9N 9 3
FQ F forg T Ten 3R F = R
(a) UifeAmTThe $519
(b) Hfeewd 35
) Pg¥E &

(d) W¥A §5H

76. SSID frue dfim 1 37

(@)
Q-& *(b) Secure Set Independent Device

\9,— Service Set Identifier

(d) Service Set Independent Device

Secure Service Identifier
’

l

18
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77. The number of columns in a

78.

80.

81.

82.

iaj 2 processors

83.

o : state table
for a sequential circuit with m flip-flo
and n inputs is He
(a) m+n (b) m+2n

(c) 2m+n (d) 2m+2n

Which of the following does not have
8 data lines?

(a) 8085 (b) 8086 (_ 'j})
() 8088 ()~ 280 =

- The Boolean expression X+ X'y equals
(a) X+Y
(b) X+ XY
() Y+YX
(d) XY+Y’'X

A computer has 32 MB memory. How
many bits are needed to access any
single byte in the memory?
fa) 25 (b) 16
(c) 24 (d) 20

A computer has 128 MB memory. Each
word in this computer is of 8 bytes. How
many bits are required to address any
single word in the memory?

(a) 27 (b) 24

(c) 23 (d) 25

To achieve parallelism, one needs a

minimum of @

Consider a disk pack with 16 surfaces,
128 tracks per surface and 256 sectors
per track. 512 bytes of data are stored in
a bit in serial manner in a sector. The
capacity of the disk pack and the
number of bits required to specify a

(b) 3 processors
(c) 4 processors
(d) None of the above

77. % R wffz B w2 daw 4, iy

m flip-flops 3 n g2 2, fra T &7
(a) (b) m+2n
(c) (d) 2m-+2n

m+n

2m+n

78. fr= 0 A frad 8 21 AArgd w#t Ben £7

79.

80.

81.

83.

(a) BO8S (b) 8086

(c) 8088 (d) z80 (-
gferya stfreafr x + x'y P wmm 27 *

(a) X+Y . :% . ;
(b) X+XY X*U 4
() Y+YX

(d) X'Y+Y'X

32 MB A % TH wrgE ¥ wF fa Az
H A0 § e F4 & fore 34 T faz
AEGHAl vt ?

(@) 25 (b) 16

(c) 24 (d) 20

TH FFER § 128 MB # AE R 3R w9T
€ F WE 8 912 B | freh oft few R A
o § WE I ¥ Ry e fe @
SATEvaHdl B ?

(@) 27 (b) 24

(c) 23 (d) 25

WA F fau mem e Tem @
TTavgehe Bt B

(@) 2 TE®

(b) 3 MEAW

() 4 Taw

(d) I d A FE T

16 §%56, W w@HE 128 3% 3 W I
256 ¥ ¥ WY & e ¥ W famm A
w R R e A 512 A B @
PR o 21 Fo 4% ) s o few
7 ¥ & Pl +0 ¥ e sEws fe

partjcu¥ar sector in the disk are R g—
respectively
(a) 256 MB, 19 bits (a) 256 MB, 19 f&
(b) 256 MB, 28 bits (b) 256 MB, 28 fae
(c) 512 MB, 20 bits (c) 512 MB, 20 fae
(d) 64 GB, 28 bits (d) 64 GB, 28 fe
A 19 [ PT.0.
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84. Which of the following is not truc
regarding registers? il

/""‘

Aes M ghdl %
" (a) Internal storage of CPU (b) 271 Y4l T B
. ) (b) Can hold either data or instruction ) Flip-flop 7 1 83 2
S ;
. ” . T 8
. (c) ade up of flip-flop (d) qurad] e £ p=aid @
(d)- Cannot store intermediate results . 4 2%
& 35.\‘Jﬁ$mw@$$mu’raﬂ
85. \\ihilli irtr;pleTcr:ingla stack ona rt.:gistcr AR E L=kl
stack, the stack pointer register is i i i F A T A
| (a')__,.mcrem.ented first during push (incrcmeﬂt) 41 2
-~ operation YT(."?{ 5% B
3 (b) decremented first during push (b) ¥ b B
4 L operation (decrement) ;
(¢) incremented first during pop (c) il TG T I T
operation (increment) Al ?
(d) decremented first during pop (d) 9@ SFaEH ¥ o0F TEd HF B
operation (dccrcmcnt) FA1 &

86. ?,ero addresg. instructions  are 86. F W THAE F frm 1 frgehl @EEal 4
implemented with the help of

I Bl 87
V[,a} queue @ T
(b) sta.ck Ve (b) o
(c) register of
(d) None of the above
(d) 3w A | FE T8

87. Switching between a supervisor mode

and a user mode for a processor is | 87. THW H WA HZ qU1 TR e F o
usually done by a et = 1 8 s g0 27

(a) subroutine call

(a) HEEA FHd
(b) branch instruction b) i s
(((;)) :)ftware interrupt B e
one of the above ) 3q'§ﬂ; 32 o

88. Which one of the following is used to
read the control words seque lly from 88. i 1 3 e a@a e el

A F2d a8 A

the control memory? FHEE T F o wam FFan e 27
(a) Microprogram address register (@) WEESIm 39 v

(b) Microprogram counter (b) WS .

(c) Control memory address register (c) Tﬁ@a e @H R

ld)- Program counter d) Wum e

/25-C 20
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89. Which of the following can be used to
track the tasks of a project, when the

estimation  of task time is (fairly
uncertain?
(a) Decision table
(b) Case tools
(c) DFD
(d) PERT

90. Which technology emphasizes parti-
cipative development among system
owners, users, designers and builders?
(a) FAST
(b) RAD
(c) JAD
(d) OOD

91. The ©best suited hidden surface

algorithm to deal with non-polygonal,
non-planar surface patches is

89, fr=1 # & frga 3wEm afis % F W 3
F9 * fau fen s a2, 5= 1@ 29
e Fh afafrra v 27
(a) fsfgem 2aa
(b) F8 7
(c) DFD
(d) PERT

90. FA-Ht FFAF frem mfawi, TETEAA,
fasmgrd afn faeed % = wpfedt fpm T
W 3 R Y

(a) FAST
(b) RAD
(c) JAD
(d) 00D

o1. §aW fedw T%a Yeriign, ;M AA-gifeniad,
T g RS ¥ IE R, R

g} Z-buffer algorithm (a) Z-9H TEIgH
(b) ray tracing algorithm (b) ¥ 3fm Yo
(c) painter’s algorithm & (c) Tred TG
(d) scan line algorithm (d) T TR LETIGH
92. Raster images are commonly called 92. T W F THIE: F1 FEl A 27
(a) pixmap (a) freERy
,\/[;;) Both (a) and (b) © (@) i (b) =
(d) None of the above ZNQT‘F #Q 8 76
93. A sca%ing transfor.mation changes the g3l %ﬁmﬂ 1 T
(a) size of an object -
(b) location of an object (a) -4
. 14 (b) e $
(c) shape of an object s y &
(d) Both (a) and (b) (c) e A F
e d 3 (b) A
(d) (a) ¥R (b)
94, One of the disadvantages of pass by
reference is that the called function may 94, UH W§ IHH ° W A F Y wE AR R

wwwmﬁﬁw%@aﬁ
@ F a8 1 3HA A Qe g =

inadvertently corrupt the caller’s data.
This can be avoided by

, (a) passing pointers - 37
(b) declaring the formal parameters ) ..
constant e iged
(c) declaring the actual parameters wifet et R fer et e
constant Vg A =) fon O w66
(d) All of the above (d) m’éﬂ; asf

21 [ P.T.O.
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95. Which of the following is not a primitive
data type?

Q&L Boolean
(b) “'

Byte

(c) String
[(‘Il}/ Double
96. The statements
string varl| |;
varl=new string|3];
system.out.printin (varl [1]);
print T . _
(@) an empty string Q
(b) null Q_/l/
(c) O

Jd} a garbage character

97. Every EJB class file has

(a) one and

one

accompanying interface
XML file

accompanying interface
XML files

accompanying interfaces
XML file

accompanying interfaces
XML files

(b) one and

and

()

(d) two

two

and

98. In unit testing of a model, it is found
that for a set of test data, at the
maximum 90% of the code alone were
tested with the probability of success
0-9. Then the reliability of the model is
(a)
(b)
(c)
(d)

greater than 0-9
equal to 09

at most 0-81

at least 1/0-81

99, Which of.the following activities does
not belong to implemeéntation phase of
SDLC? ' ;

(a) Program testing
(b) File conversion
(c) User training
\@ New changes to the system
/25-C

22

b @ @ AA-E ST
(a) Eﬂ%mq
(b)
(c) ﬁ::xm

o =

96.

97.

98.

99,

ELE|

string varl| E
varl=new string[S]; .
system.out.println(varl (1]);

fo=

(a) T w0
(b) @ (null)

() O

(d) T FRAF AT

TR EJB @1 Gfue & @19 #dl 8

(2) T Hem STAE T T XML
(b) TF T AUYE T4 & XML Hi=H

() 2 Helm Y TH Th XML Hiwaht

(d) A G AqUYE T & XML G

T Hisd * gfve Afem ¥ afe tm T F @
TR & fa¢ sfwam 90% #g 1 220 09

FHA WIEAIH F Y Bl R, 9 39 gizq 9
favaefigar anf ' :

5 Cio.l.
(a) 09 | 3y

(b) 09 F sy g

(c) rfuFam 0-81 &
(d) #A-3-%1 1/0.8]

= 8 A -
hﬂqﬁm%?“m SDLC & fraraw

() WM yhigm

(b) 5 TRy
(c) Wgﬁ-‘m

(@) e § g
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100. Project risk factor g considered in

101.

(a)
(b)
(c)
(d)

waterfall mode]

prototyping mode]
spiral model

(@

iterative enhancement model

fﬂ\cclording to PUTNAM, the pProject effort
1s mversely proportional to the fourth
power of the development  time.,
Doubling the development schedule for
a 100 Person-Month (PM) project would
reduce the project effort to

(a) S0 PM
(b) 716 PM
(c) 25 PM
(d} 625 PM
102. In virtual memory paging, page size and
frame size have which of the following
relations? )
a2 Both are of equal size @
(b) Both are of unequal size
(c) The page size is exactly half of the
frame size
(d) The page size is twice the frame size
103. To change the command prompt in
UNIX, one can use
(a) grep Jpr1s
‘9 psl (d) pwd
104. Which of the following page replacement
algorithms requires futuristic infor-
mation about page references?
(a) FIFO
.\,Ug} LRU
(c) Second chance
(d) Optimal
105. A process refers to 5 pages A, B, C, D, E
in the order
A B C D A B E A B, C, D E
If the page replacement algorithm is
FIFO, the number of pages which
transfer with an ‘empty internal store of
3 frames’ is
(a) 8 (b) 10
) 9 (d 7
/25-C 23

100.

101,

102.

103.

104.

105.

e fow ¥En e 4 ) frm viEe
fermmofta g &7

(a) FZIHA ATZA

(b) Wirzrsfim niza

(c) ¥T3TA HigaA

(d) 32tfem A=A miea

PUTNAM % 3rqem gfdrss war|, fasm
g B N T (o) F B s R
W% 100 AfF-TEA (PM) g & W
FAFY F A FA P afrEs waE FH O

F A S

(a) 50 PM
(b) 7-16 PM
(c) 25 PM
(d) 625 PM

om0 A # A A T A A
w1 gy g 87

(a) 2! @HE A9 H A E

(b) 2Hi EHM A F B F

(c) ¥ urEe, m wrgw I i aneh) Al R
(d) ¥ 91, BH G B A R

UNIX # 98 Y= seo & faw w3m
EICIRS

(a) grep (b) s

() psl (d) pwd

= d & FF-w 39 fomiz terifen, I
W A M A (vfdsm ) FEE W oEm
Tl 8¢
(@) FIFO
(b) LRU
(c) Wehrs 9T
(d) fema
TF WH 5 UBI A, B, C, D, E #

A BCD ABEADBC GCDE
& w9 A wehifd w@ ?1 IR W R
U@ - FIFO .}, @ W usl, M ‘empty

internal store of 3 frames % WY
YT Hof, hit wEn weft

(a) 8 (b) 10

(c) 9 d) 7

[ P.T.O.
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106. The number of 3’s in the output of the
program

main ()

{
printf ("1"); fork ():
printf ("2"); fork ();
fork (); printf('3");

s
(a)
(c)

16 (b)

(d)

8

4 2

107. The data blocks of a very large file in
UNIX file system are allocated using

. [&} contiguous allocation

(b) linked allocation ('La
(c) indexed allocation
(d) an extension of indexed allocation

108. If a function does not modify the
database, the purity level is

(a) RNDS (b) WNPS

(c) RNPS (d) WNDS

109. Which of the following concurrency
control protocols ensure(s) both conflict

serializability and freedom from
deadlock?

I.  2-phase locking

II. Timestamp ordering

(@) I only
(b) 11 only @
() Both I and II
(d) Neither I nor II
 Gas

110. In RDBMS, different classes of relations

are created using technique to
prevent modification anomalies.

(@)
(b)
(©)
A

/25-C

functional dependencies
referential integrity

normal forms

24

107.

108.

109.

110.

main () I
'77), fork ()i '
antf (1) for :
g::ntf("Z”); forlf:;")],-
fork (); printf( :
} : d gt
5 frfa (output) & EE] 3ﬁ;
b
(a) 16 (b)
(c) 4 d) 2
UNIXWW‘E{@WHQW%%
(a) ®Ta HEZA A
(b) I3 aTHZ:! AL
() ﬂaﬁﬁ Hq1g24 &1

(@) IR ST ¥ TR T
afs T FoM, SIAE F giEdd T8 A g, A

S Y- @

(a) RNDS (b) WNPS

(c) RNPS (d) WNDS

= 4 ¥ +-w/A wued BEwm

(concurrency control) WaWhid, Hidw:
fefaaefafafe v 2ewis @ aad, [
i e B/ 87
L 2-%9 wifem
TAHRTY T
Fae [

T4 11

I 3R 11 3
AL AR


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

pased data model? 818 not a record- | 111.
,\[:‘ti Rflational model
(b) Hierarchical mode] -
(c) E-R model @ »
(d) Network model /
12. If trafnsam‘o“ A holds a shared lock R | 112.
and if transaction B also r
' equests for a
shared lock on R, it will
(a) result in a deadlock situation
(b) immediately be granted LY,
(c) immediately be rejected
({d) be granted as soon as it is released
= by A
113. A data model is a collection of
conceptual tools for describing
(a) data and data relationship "5 113.
(b) data semantics and consistency
constraints
\_/(p} data, data relationship, data
semantics and consistency
constraints
(d) None of the above
114. The difference (-) operation removes
common tuples from the first relation. | 114-
This operation is
(a) commutative and associative
(b) non-commutative and associative
(c) commutative and non-associative
(d) non-commutative and non-
associative
115. Which of the following is possible 115.
security threat?
(a) Information destruction
(b) Information alteration
(c) Information release
\/(d}’ All of the above
: 116.
116. Salami attack is for
(a) website defacement
(b) controlling the website
(c) financial crimes
(d) Internet time theft
/25-C 25

which of the followin

ﬁqﬁﬁahq-mﬂaﬁé-m%aﬂmﬂﬂ%?

(d) Heas Hizd

af 7R A T IS A R T@dl ®
T A B\ﬂ@ﬁuéafmsamﬁm
R, @ W@

(a) TH TitRE (deadlock) £ foafq 394

3 R
=l

ﬁ@ﬂhﬁ,ﬁﬁmﬂﬁﬁﬁﬁm
ﬂm%,ﬁﬂﬁﬂwaﬁhmﬁ?

(a) ¥ W@ ST F=Y

(b) 27 fytif2ed @ g ey

(c) @a@am%aﬁrﬁﬁwqawﬁ
a0y

(d) 3w & QT

R (-) AR TeQ Ty A F W tuples

721 31 ¥ | 9% A R

(a) wregefea i wearf

(b) M-wrepRa o g

(c) ﬁﬂ@ﬁaaﬂ'{m—m

(d) r-rgefea o IR-wEarh

{ PLT.O.
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117. What is multipartite virus?
(a)

Hybrid of macro virus and stealth
virus

Hybrid of virus and worms
Hybrid of ActiveX and Java control

(b)
(c)

(d) Hybrid of program virus and boot

sector virus

118. The main purpose of the Data Prnt_ectiun_

Act is to i
(a)
{b)

(c)

protect personal privacy

prevent viruses

increase the security of computer
systems

(d) reduce project failures

encryption standard

Y

119, What is data

(DES)?

_A8) Block cipher
(b) Stream cipher
ﬁ-* Bit cipher

(d) None of the above
120. Which of the following represents
stealing the ideas or stealing the
creations of others? @
(a) Plagiarism -
(b) Intellectual Property Rights
st Piracy
(d) All of the above

121. Which of the following protocols may be
used for accessing World Wide Web?

(a) HTTP
(b) SMTP
(c) SLIP
(d) None of the above
122. Web pages are created in a language
called
(a) SLIP
() HTML
(c) HTTP
(d) WWw

117.

118.

119.

(b)
(c) Tore WIEH

(d) I § @ F3 T

fra & @ F-m gad % faamd @ el #)
A F1 Fwial 27

(a) wAfATGH

(b) SZETFEE Wied T3zm

(c) TIstER

(d) 39 asft

121, 52 91 39 9%
NI 1y

120.

TSR % forn o 4 ) fm
B 27
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ol

which of the follow

’ ing i :
jame? 1S a valid domain

&

a) .com
(b)  .gov
[c] .net
d)  All of the above

124. MIME stands for

(a)  Multipurpose Interne

Exchange e
(b)  Multiple Informati
ation '
Exchange =
() Multipurpose Internet Mail
- Extensions '
(d) Multipurpose Information Main

Extensions

125. URL stands for

(a) Unique Resource Locator

(b) Universal Resource Locator
v fe+ Uniform Resource Locator

(d) United Resource Locator

126. To jump from one page to another page,
which of the following is used?

(a) <A HREF> ..... <[/A>
<link> @

(d) None of the above

127. What is the by default time in minutes
when a page session ends and if user
does not refresh or request page?

| a0
(b) 15 @

(c) 20
(d) 25
128. Search engine is used
(a) to search document on web
(b) to search the file on host computer
(c) to search data in a file
(d) None of the above
129. On what type of switching does Internet
work?
(a) Circuit
(b) Bit @
(c) Packet
| (d) Line
I
/125-C

27

123. g Ay g w1 AW @

(a) .com
(b) .gov
(c) .net

(d) ITfE A
124. MIME fiFaa gfsm &9 27

(a) Multipurpose Internet Mail
Exchange

(b) Multiple Information Main
Exchange

(¢) Multipurpose Internet Mail
Extensions

(d) Multipurpose Information ~Main

Extensions

125. URL fras afim &9 27
(a) Unique Resource Locator
(b) Universal Resource Locator
(c) Uniform Resource Locator
(d) United Resource Locator

IZG.EWﬂ@iﬁGWFﬁQ@%%ﬂﬁHﬁ
A frga WM w7
(a) <A HREF> .....
(b) <link>
(c) <jump>
(@ I § A FE T
127. & T I @ 9 #) foen @ e T
S 2 3 39 YIR T @ W@ R, @ I
foufy & fewiee % &9 # e # fFa w1
UG
(a) 10
(b) 15
() 20
(d) 25
128. @9 359 F1 W@ A R
ey ¥ T TS g $ fo @
(b) TR T T FEA g & forg
() TH wEA § 32 g F fere
(d) Ioiw A A+
129. 320 T wan $ fafam @ Fm w=@ R7
a) |
(b) fae
(c) ¥e
(d) <iEd

</A>

[ P.T.O.
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130. What is  related to
development strategies?

application

7

(a) Braimstorming
(b) Technical planning

()  Writing the creative brief

ng} All of the above

131. Which of the following techniques is
used for transmitting digital signal?

@

132. Which of the following is an advantage of
computer networks?

(a) Amplitude modulation
V_Lb',l Frequency modulation

(c) Pulse code modulation

(d) Amplitude shift keying

(a) Resource sharing
(b) Improving reliability and availability
(c) Enhancing performance

dg), All of the above

133. A network spreading in different
geographical locations is known as

(@) LAN @
(b) WAN @

Jc_:_] Both (a) and (b)
(d) None of the above

134. Which of the following is a token-based
protocol?
(a) CSMA/CD
(b) Slotted ring
(c) Both (a) and (b)
(d) None of the above
135. The number of layers in ISO-OSI
reference model is
(a) 5 (b) 7
() 9 d) 6

/25-C 28

130, i fedemiz 22 @ i
grafia 27
(a) AN
(b) FEFR A A
(c) ToATHF Ha fora
(d) I /st
131, fefirrer fomet =) i w0 ¥ forg F 2 8
fm fafu =1 wam & 27
(a) ffcrgs AT
(b) R Hieee
(c) UeH F13 HiSATH
(d) UfFerzre farwe Fem

132, = & @ 2T FrR Jzad &1 0F a8
(a) wEA F e 2
(b) framfafa?) a1 Taefafad) 1 9gH
(c) TUHHEH F FEH
(d) Fwdw #fi

133. TF Fzah, = fafim fifas @ 7 % &,
F FEd

(a) LAN
(b) WAN
(c) (a) *M (b) 2
(d) I9 ° A+ 7

134. 79 7 A FH-91 0F A¥4-Fee wRrH 27
(a) CSMA/CD
(b) s fim :
() (a) 3 (b) 3 @

4 I A @ F1g 7

135. ISO-OSI U Wigd § gy T B #7
S by 7 |
L @ 6

R R TT———
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137.

138.

139.

140.

(@) network layer and royt;
i

n
(b} data link toysr B
synchronizatioy and by
(c) transport layer

and end-to-end
cation

medium access contro
and channel sharing

process CommUnl
1 sublayer

What is the maximum number of

characters (7 bits + parity) that can be
transmitted In a second on a 192 kbps
lme?‘ This asynchronous transmission
requires 1 start bit and 1 stop bit.

(a) 192
(b) 240
(c) 1920
(d) 1966

In which layer of network architecture,
the secured socket layer (SSL) is used?

(a)
(b)
(c)
(d)
The address resolution protocol (ARP) is
used for

(a) finding the IP address from DNS

(b) finding the IP address of the default
gateway

Physical layer
Session layer
Application layer

Presentation layer

finding the 1P address that

corresponds to a MAC address

()

(d) finding the MAC address that
corresponds to an IP address
The number of crosspoints needed for

10 lines in & crosspoint switch, wh'%ch is
full duplex in nature and there is no

sclf-conncction, is

(a) 100

{c)

(b) 45

50 (d) 90

29

/28-C

137.

138.

ol
.

139.

140.

136. OSI 1% gr/370@ 3R 3@ FEET ¥

P 2 3 4 i e B

(a) Jeak A An wfm

(b) 2 fem qra 3R fe R

)z T 3l 73-7-Tr S Hen

(d]ﬂ'mqﬁaﬁmmaﬂtm
I

Rt ) stfermam wem (7 faz + ¥ R,
R 192 kbps T W TH FHs F A
fop =1 w2 7 39 wReea gatee ¥ fae
| i faz ol 1 =l fe H mEvEEd
ad 2

(a) 192
(b) 240
(c) 1920
(d) 1966

Yoad anfea & fee wa § gl @R
m(SSL)mmﬂﬁmm%?

(a) Torfsrehel T

(b) H¥H 9

AAFIH Ta
t%aﬁshamwﬁ\aﬁa(mp)wmﬂﬁm
ST ® 3

FEENERIC]
sk DNS @ 1P 7 &1 & fere
(b) feiee 7ed ®1 1P v gg3 F fore

(c) w MAC @ ¥ 33Fd [P 9 &1 ¥
fee

(d) wF 1P W@ F IgEA MAC W@ 64 F
fe

o Fraaie feg, N Eie duplex ?
ﬁaﬁﬁr_ﬁﬁa:miﬁi,ﬁ.wmﬁ
for sfrrtie 1 Fen 00

(a) 100 (b) 45

(c)

o

o=

X\nﬁ

&

w
*

50 (d) 90
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141, In Huffman’s coding, if the symbol A has
]’)‘Inli;-ﬂ)“i[}" 0-3, B has probablllty 013,
C has probability 0-1, D has probability
0-25 and E has probability 0-2, then the
minimum number of bits required to
represent all the symbols together is

(a) 14 (by 11
(€) 12 (d) 15
142. X.21 1s
(a) a method of determining which
device has  access to the
transmission medium at any time
(b) a method access control technique
or multiple access transmission
media
(c) very common but oriented at linked
protocol issued to ISO
(d) a network access standard for
connecting stations to a circuit
switch network
143. Which type of support for TFTP is
available from third parties, but is not
included in Windows NT?
(a) As client
(b) As server
(c) Windows NT includes full TFTP
support
(d) None of the above
144. Two main types of Internet-based B2B
commerce are
(a) net marketplaces and private
industrial networks
(b) EDI and collaborative commerce
(c) net marketplaces and collaborative
commerce
\y} EDI and private industrial networks
145. The media access control sublayer
resides in which OSI layer?
(a) Transport
(b) Network
@ ) (c) Physical
- (d) Data link
/25-C

30

141.

£ b 03, yE B #
qifEar 0-15, C#1 0-1, D #1 0-25 namﬁ
0-2%,?iigcsﬂ=léﬁmﬁmﬁrrefmm
@muﬁaﬁﬂﬁ%fmwﬁﬁﬁﬁzﬁ
HrEvFEFAl 7t

afe udE A

(a) 14 (b) 11
(c) 12 (d 15
142. X.21
(a) @ﬁu@,ﬁm%%ﬁq-mm
mﬁmﬁ%maﬁﬁwﬂmmw
Eaul
(b) TF R T FA JHEF A HieoTd
g ZrameE i
() ¥ g AfF fow W AR
Aftee 2 S 7% 1S0 F 3 R
d) T Yoo wEm vl fmd weE A
gf¥e ferm Yzas @ sigr 91 R
143. TFTP % fore #9-w1 g, @€ o & 3ufed
2 AfF Windows NT . wifire 7df 7
(a) T H wifd
(b) T Y wWifd
(c) Windows NT @ TFTP ®9¢ & %
Fra1 2
(d) I A} HS 7
144, $TER-UIRE B2B a1 & A & TFR &
(@) T& 9 3R Fft shenfie Jza®
(b) EDI 3R dearft arforsa
(c) Y& 9N AR gegrft Frforey
(d) EDI 3R fxsit afvenfirs Jeash
145. #ifex tw g F29 gea R OSI o &
e 37
(a) ZFRGR
(b) eaH
(c) Torforera
d) 3 fas
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146. Which  of the following
packtracking algorithm?

(1) Knight tour problem
(b)  N-queen pProblem
(c) Towers of Hanoj

1S not a

(d)  M-coloring problem

147. Which of the following is useful in

traversing a given graph by breadth-first
search (BFS)?

(a)
(b)
(c)
(d)

Stack
Set
List

Queue

148. Which of the following algorithm design

techniques is used in the quicksort
algorithm?

(@)
(b)
(c)
(d)

Dynamic programming
Backtracking

Divide and conquer
Greedy method

149. What is the output of the following code
snippet?
#include <stdio.h>
#define var3
void main ()
| short num [3] [2] = {3, 6, 9, 12, 15, 18};
printf ("%d %d", *mum+1) [1],
**(num+2));

I
}

(a)
(b)
(c)
(d)

12
15
15
12

15
12
15
12

150. For merging two sorted lists of sizes m
and n into a sorted list of size m +n, how
many comparisons are required?

(a) O(m)
(b) O(n)
(c) O(logm+logn)

(d) O(m+ n)

/25-C o

76,96

146. 79 # § Fa-m w2 Yoriigm 7 7
(a) Mg T Wi
(b) N-®IF WiserH

(c) Zrd 3% 7
(d) M-Fenm giseH
147. fra § & B8, T 6 H AgY-FE T
(BFS) g1 3@ %4 1 Imgrht 27
A W
(b) W2
© foe Q/I
@ *
148. frm # A frm tonifige feoiga asdis F1
ITAM quicksort TEH A s R7
(a) AT WfEm
(b) SRefHN
o) Feame T FER @
(d) firdt Aws
149. = %4 (code) F Fid (output) 7 27
#include <stdio.h>
#define var3
{ void main () o5

-—

short num (3] [2] = (3, 6, 9, 12, 15, 18}
printf ("%d %d", *(num+1) [1],
**(num+2));

}
(a)
(b)
()
(d)
m nmﬁaﬂﬁg%ﬁ%m+n
s i v wide e A faem ¥ for et
gl ) s g

O(m)

O(n)

O(logm +logn)

12
15
15
12

15
12
15
12

150.

O(m +n)

[ P.T.O.
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